STX?
1ERE:ZS ST I%

m m K

RmI—F K32968  -K32978 -K32979 -K32980

81 3( MKB3080-MKB3080-0S-MKB3080-35-MKB3080-4S

RmIJ—F K34192  -K34200 -K34201 -K34202

8 T MKB3082-MKB3082-0S-MKB3082-3S-MKB3082-45

sbmitfaBisl UKB3080-08

* B CEX DR, HIEPmiinEilz CEig FELY,
- fEASmO—ERICE, LD Y MRTEDH DB HDET,

HASHIHIA Y —



&

D ZiEXIZDONT

L. &0 THEX OB, MHHH & JHifg < 2
Y

o

oW %
ERan kAR (RO
T )
i & 5
1 5

MER RTINS ER AR TR S LK VAR ICREF D
R—LTL—FIRRLTLET,

SECEERCRCN;

2. HEoE - ik, UFo 2R LTED
9,
He-vafs &L fHARATE N TV A BB,
% 1z & 0 8875 58

-7 w24 RBICEEN AR CHETIRH
FA U 78 OES Sho

3. RIELESH[ Jici-Tw3b0id, @
WL EO, AR prDETOT, Z
DEE THKSE TV E £,

4. FHRERERO—EIicid, &£« vy MRGED
HDEREMH 0 £, THEXORRIT THEEL 7
IV, FEME L oS TORVEEE
oy MRFEOADHIEE SHE TV EE T,

SIS £ 0 T B - MEAZE
THIENDY £T,

AERAOERERIZONT

fESSR ES RS S BEH VKD < X 0y,
MBS E B VI D £4 &, BEo LT
HEREICE T 25600 0 £7,

C OB ORHE MmO MHEER GHRED 3
BEFT B0 %R 9ETT, 7272 L, BHAERNT
H->Th FHISIC S WTIEIL & % CHE#
IHTVWEELESEbHD T,

fEER O (JFER Ik EEEOMAEFEIR T
BT LZ I, EERREREZETH > T, i
kG D TEEEDI B - 125G B X Olt& i o
WTTHEEETWRELEXES,

{REEIZCDWVT

B OUUE IMFEOJHIKE 1 4 DT, 11b
TVWTLIEE 0,

gt L e e o BdlkaniE b <oz L v
HFHEHNERZ 25613 RAEOHRIICIED £
TOTITHELI LIV,



MKB3080 - 3082 1t ESEfHE
NDOVT

49 17 19 15 18

1 ‘ Q\/@;/
%\Q ﬂ\ a igim

/a‘éi‘.

=7
;‘ﬁ a7

& S—a

Cy—37

(= o

&—a0

[Fs5i02 ]
065-0013-1002
N (T il an # i) EE i 5
1 0922422004 Ny Vv 1
2 1015883002 PICY+7 b Y 1
3 KFB08070400 N avF— Ay 8XTXA40 1
4 NC2L20150 Fv v ANFy b 2¥vaks M20X1.50 1
b 046001100M 7w ¥r ;20 1
6 PC040025 7YY 4X25 1
7 0000963000 PIC#+ v 7 ;35 1
8 1015870000 TN VT 1
9 0922431000 TILH TN VT 1
10 0639721000 PIC A /x— 1
11 000826100M V7oL 1
12 1266400004 7744 —); Bl 1
13 J6011LLUJ R—=x71Y v7 6011LLU 1
14 J6010LLUJ R—n~x71) 7 6010LLU 1
15 J6305LLUJ A= x7 1) v/ 6305LLU 1
16 DC050 CHsrxro vz 50 1
17 DHC062 CHsbx7 T+ 62 1
18 D30428 A A=) D30X42X8 1
19 134272100M V=g Vv CP 1
20 LFB-3525 A VAT vy va LFB35X39X25 2
21 0922295004 T—451 1
22 1161711004 T =52 1
23 0753970000 7y ¥y 11X6.0 2
24 092339000M 71N — 2
25 067856000M Fov k5 M10X 25 2| v—a vy Xy 7L

717




MKB3080 - 3082 {LAk:ERHEIfTE

INDDVT
49 17 19 15 18
) é?} ot
’ﬁ-&-—\“ a7
/\q 46 12 )
N 47—o| :/
1 |
3 Ol S
2 ;\Q a 43
7 31
©S—a
@“37
& &
&—a0
065-0013-1002
REES T RES e A % PR % I #
26 WSA10 NEHH 2 3aTv MIO
27 ONA6 J)—=2=y 7N A M6
28 J6206LLUJ K—=wx719) 7 6206LLU
29 D40558 A4y = DAOX55X8
30 0922810002 Yy 7 b
31 0923411000 717 —; 30X12
32 D40628 A= DIOX62X8

33 085082000M 77N —

34 J6207LLUJ R—xX71) 7 6207LLU

39 J6206LLUJ K= x7 1) o7 6206LLU

36 DHCO072 CHy b 2T T4+ T2

37 DHC062 CHsbrxv 73 62

38 KFC10080400 NAavF— Yav=zi 10X8X40

39 KFB10080350 N avF— Hy=b 10Xx8X35

40 082316200M HvAa ey 7 F oy b M25X1.5

[ N e N N I N I e e B I N O e e e N L R e e e e N R E SR R R RN

41 1341901004 75 vV

42 0923401000 TR Y=

43 BZ14065 Fovk 88 MI14X65

44 BZ14060 Fovh 88 MI14X60

45 BZ14045 Fovb 88 MI14X45

46 NZ14 Fv b 8 2¥a Ml4

47 WSA14 NRHFAHR 3Ty M4

48 JSSB050ASY YaA b 73 SSB—50 *
49 ONAG6 7Y —=2=w 7 ; A M6

o0 1341891000 F TRy N

—2— * A7



MKB3080 - 3082 1t ESEfHE
NDOVT

49 17 19 15 18

Prc =
46
47—

1
3

. N\ b e T

R e

A
>
M‘ 46
ZANE
:;

@“37
&=
&—a0
[0z |
065-0013-1002
RE&ES W& S i i % PR % i E
51 134273100M AUk M12X 28 2
52 WSA12 NxRHFAR 3T M2 2
53 WRA12 LA MI12 2




MKB3080 - 3082 {LAk:ERHEIfTE

BT

24-

23

2511

065-0013-1003

REs| M &5 il b i) %4 (i %
1 1428110000 T4R7TFL—=1F ;Y 1
2 1457840000 Ry NT L — b 1
3 1428200000 UM 1
4 BC06020 Fovb 27 v M6X20 3
b NS06 >y b ATV 1va M6 6
6 1505550000 OVvyz7 200 7nw 1
7 1266290004 Y+ 7bh CP 1
8 BC10030 FKob =27 v MI10X30 3
9 WSS10 NEXHHR RF v 239 MI0 3
11 JGS81105 I ATy ¥e GS81105 1
12 134001ASY ANT ~ ASY 1| @13—221+
13 1340011000 Z¥g b CP 1
14 0744604000 77w~ CP 1
15 BZ12060 Fork 88 MI12X60 2
16 NCRZ12 tyy—oy 274y b 8 M2 2
17 WSA12 NERHHT R 3T MI12 2
18 BC06020 Fovk 27 v M6X20 2
19 NS06 >y b ATV 1va M6 2
20 WSS06 NEHYHTR ATy 23Y M6 2
21 1340000000 ANTY A YT 1
22 WRA12 EIH¥H R MI12 2
23 1532070000 Y ¥ v ¥ AS 1| %@24~271f
24 0744544000 Ry NT L= b 1] %
25 8034950000 T4 A7 7L —bhCP 1| %

Mo ATV a v




MKB3080 - 3082 {LAk:ERHEIfTE

BT

24+

23
25-1
065-0013-1003
N (T G it i) 1%L i 5
26 | 8034960000 | OV ¥ 7255: /L — e
21| 0744334000 | 0 > 7 e
28 | 1537190004 | 7L —F 1

Mo ATV a v



MKB3080 - 3082 {brk:EBEmifmtk
TJU—LAL - -F+RF

065-0013-1001

R W& 0 i PR {(EE3 i £
1 000006200M oy—) vy ;0, 1 2 | @2, 3ff
2 WSA22 NRYH R 3T M22 2
3 NAA22150 >Fv b 4 1¥a2 M22X1.50 2
4 1418010004 2% v RKCP; L 2| %
5 1418030004 24 v KCP; R 2| %
6 114931000M TIEEY ;13 2
7 1343710000 F+ 2% AS; 100 1] @8 ~111F
8 1346160000 F+ 2% ;100 2
9 1346170000 F 275100 (R b vs3f]) 2
10 NA12 >y b 4 22 M2 4
11 WSA12 NRYH X 3T M2 4
12 0927741000 SN M) TYAAFaTA 1
13 1418530004 24 v FCP; L 1] %
14 1418560004 2% v KFCP; R 1] %
15 107409000M [ 1] %
16 089222000M h 5= 1] %
17 DEO015 EfXs s 27 15 2| ¥¢
18 089223200M #A4 K CP 2 | Ye@19f7
19 | PS080032 2T Y 8X32 2| ¥
20 BRS10030 N x=)VB A7 v MI10X30 2
21 NS10 Fv b ZF¥ 1¥a MIO 2
22 WSS10 NEHFEH R ZAFv 23v MI0 2
23 0822960000 7y v 10.5X3 2
24 1428360004 WA T A=K 1
25 BSZ10030 aFyFEs T MI0X30 4
—6— Y 0S-35+4S5 47 L




MKB3080 - 3082 {brk:EBEmifmtk
TJU—LAL - -F+RF

065-0013-1001

RiEs| W& s i b # i) %4 i %
26 NSZ10 amyFy b 8 2¥a MIO 4
27 WSA10 NRHFH X 3T MIO 4
28 8030924004 7L —4CP; 01 1
29 CAP048635 F v v 7 48.6X35 2




MKB3080 - 3082 {brk:EBEmifmtk
7 A

065-0013-1004

REs| M &5 il b # EE (i %
1 0923702000 F N5 200 1
2 142825000M FVg CP;F 1
3 126833200M T 5 CP 2
4 RBTC1230 F4 B ZX7v MI12X30 6
b NS12 >y b ATV 1va M2 6
6 WSS12 NRYHR RF v 239 MI2 6
7 0744120000 TLT L=} 1
8 000088100M N—FEv;19%3 1
9 NZ12 Fv b 8 2¥a MIl2 2
10 063467000M Ty ¥y 12.5X3.2 2
11 WSA12 NEXHFT X 3TY M2 2
12 BSZ08030 aFy R T M8X30 4
13 NNF08 77 vVFA4mrry b M8 4
14 WRAO08 EI¥ AR M8 7
15 0923712000 B 7Ry NS 1
16 1339070000 STAR ~—7 5 ~b ;40 (v v Ky +) 1
17 1065360000 A a 122 1
18 1065660000 NI r A 371562 1
19 0009350000 RS 5 ~ov 3 R—170100SQS 1
20 1462790000 SN AL KXY Y T ) gy (BY) 1
21 1281290000 F v VR 1
22 1343690000 ECO~—7 1
23 1064200000 N A a739 1




MKB3080 {LpiE&EEhH

“a ko bin—

R&Es) i m & 5 0 i PR % i E
1 145376000M 7YV v XY L/X—=CP 1
2 142929000M L/N—=CP 3 A 1
3 0006880000 =F1 ;20 1
4 B712035 Uk 88 MI12X35 1
5 NZ12 F v b 8 2¥=2 MIl2 1
6 WSA12 NEHH R 3aTv M2 1
7 142821100M 7Y% AYCP; Y 1
8 092333200M =R 1| @10k
9 000085200M N—FZEv;8X16 2
10 NSZ10 angyFy b 8 2¥a2 MIO 2
11 WRA10 LI A% MIO 1
12 142925000M 7 #CP 1
13 035189000M XA TN T — 1
14 044098500M 7y ¥y ;10 1
15 BSZ10055 a7y RN T MI0OX55 2
16 NNF10 75vyFA4v vty b MIO 1
17 NSZ10 aAgyFy b 8 2¥a2 MIO 1
18 WSA10 NEHH R 3aTv MIO 1
19 035022300M A~ woxXCP 1
20 142928000M 27 vy H 1.2%X8.8%X155 1
21 1430300000 ARV S )| 1




MKB3082 {LpkiE&aift
FUKY Yy

34
-
33
R W& 0 i % PR {(EE3 i £
1 145822000R 75 v FCP 1
2 BSZ10030 aHmy R T MI0OX30 2
3 NSZ10 aAyFy b 8 2va MIO 2
4 WSAI10 NEHA R 3T MIO 2
5 044098500M 7y ¥y 10 1
7 1461250000 F ¥ ASY 1| @15, 16fF
8 KBB-1212B N—=RYRFI5A4XT7TYv7 B 12X14X12 2
9 DE008 E#Xs 2T 8 1
10 145828000M AR R N 1
11 CP06016 +FXaxY M6X16 2
12 NZ06 Fv b 8 2va M6 2
13 WS06 NEXHFEHA R 2T M6 2
14 1458290000 #778— 1
15 1458300000 HARFE—2 1
16 1458310000 27N T (RYYa vV H) 1
17 145832000M LN — 1
18 BSZ08025 aAgy RNV T M8X25 2
19 NSZ08 aHyFv b 8 2¥a M8 2
20 WSA08 NERHFH R 3T M8 2
21 1434811000 N —v 4 v KE—%—CP 1
22 BZ06055 R b 88 M6Xb5 3
23 WS06 NI 239 M6 3
24 0959620000 757 1
25 TPA04020 FRY L EVYRY A 4.0%x20 4




MKB3082 {LpkiE&aift
FUKY Yy

34

33
RI&ES| W& S i i R e i £
26 | 1347020000 B FtvH;60° 1
27 | CP04012 +FRITF Y MAX12 2
28 | WS04 NEHFH R 23y M4 2
29 | WRA04 ES¥AXx M4 2
30 | 1456530000 avho—Ey 7R 1| B34t
31 | 1456580000 £y a—F 1
32 | 1345440000 a—F ;3500 1| B33
33 | FU30 Ea—2;30A 1
34 | 1456570000 =Yy 7 =7 (£ R, % R) 1
35 | WRAO4 ES¥AXx M4 1
36 | WRAO6 ESHH X M6 —




MKB3080 - 3082 {brk:EBEmifmtk
3POUV—L (FTLaV)

L s ) s it 4 PR flE%k i £
1 1454850000 3BP7L—LAS; 0L (X7 vav) 1| @2~13f+
2 1439590004 kv 725 —CP 1
3 1439620004 oy —1v7CP;R 1
4 1439650004 ouy—1Jy7CP;L 1
5 1343830004 PICY v+ 7 FCP 1
6 141892000M 715 — 5 12.5X14.5 2
7 141887000M 717 —;12.5X11.5 2
8 BZ12090 Aok 88 MI12X90 4
9 BZ12035 Ao b 88 MI12X35 4
10 NZ12 Fwv b 8 2va MI2 8
11 WSA12 NERYH R 3T M2 8
12 BSZ08020 afgy Rt 7T M8X20 1
13 NSZ08 anfgyFrwy b 8 2¥a M8 1




MKB3080 - 3082 {LpkiR&FIfhHE

R P4

5 ~ /5 23 8
T @{// 7
N ¢
&
]
é\g
065-0013-1007
R&Es) i m & 5 S i % PR % i E

1 126633200M 4 =7 CP 1

2 126627000M =AY %7k 1

3 TRK08025 6hxxv 109 7 A3 M8X25 1

4 NS08 +v b ZXFv 1va M8 1

5 126574100M JL—=F 2

6 BC10080 Fovr X7 v MI10X80 1

7 NS10 +v b ZXFv 1va MO 1

8 WSS10 NRYH R R v 239 MI10 1

9 1266281000 Ty Va 1

10 126636000M 4 K CP 1

11 126769000M 27— ;1 3

12 126770000M 2T =2 3

13 BC10030 Tk 27 v MI10X30 3

14 NS10 v b ZXFv 1¥a M0 3

15 WSS10 NEYHR 2Ty 239 MI10 3

16 126626000M 73— 40K 1

17 124302000M AT — 3

18 BC08020 Fovr 27 v M8X20 11

19 BC08025 Rovh ZAF v M8X25 3

20 NS08 +v b ZXFv 1va M8 14

21 WSS08 NP RF v 239 M8 14

22 1281310000 7w ¥ 9.0X2 6

23 0822960000 7w ¥y 10.5X3 2




MKB3080 - 3082 {LpkiR&RIfhHE

ALE.
065-0013-1006
Rtk am & 5 il an % i) 1%L i 5
1 1266240000 NG =Ny =Y 110 1
2 1265723004 737y~ CP 1
3 BSZ08055 aAgy RV T M8XbEh 2
4 BSZ08025 afgy ARt 7T M8X25 1
5 WSA08 NERHH R 3TY M8 3
6 BSZ10030 aFgyEEr T MI0X30 2
8 WSA10 NERHFEA R 3T MI0 2
9 075290100M 7w vy ;10 2
10 126768000M TYvRY 1
1 BXT110060 fouk 109 v MI10X60 1
12 NSZ10 amy+w b 8 2va MIO 2
13 126760100M AT — 1
14 BSZ08025 afgy ARt 7T M8X25 1
15 NSP08 ARG RTY) v TFy b 4 M8 1
16 127024000M VZ7=1 ;45" 1
17 126865000M Ty ¥, 14X9 1
18 VRB042 Vs B—42 Lo R 1
19 1266650004 7° =1 71/x=CP 1
20 BSZ08020 aFmy Rt T M8X20 3
21 WSA08 NERHHT R 3TT M8 3
22 WRAO08 EI¥Hx M8 3
23 1437400006 TV E—Y ;32 1
24 KHO0401600AP | =27 v ®—2Z 1,/4X1600 1—4 1
25 102551000M 7w v PF3,/8XPT1 4 2
26 1035-04-06 F—2xTIK45 PF1/4XPT3,/8 1




MKB3080 - 3082 {LAk:ERHEIfTE

K97
065-0013-1006
REs| M &5 il b # i) %4 (i %
27 1268630000 FA B YFa—7;3/8x1400 1
28 1268640000 A2ax2 4 ; CIN38xXPT1 4 1
29 0889770000 7~ 450~500rpm 1
30 ILT250 Avvaoy 754 48X251 2
31 1281680000 ANA ) F 2 —7 ;100 2
32 1272260000 A 2ax2 % ; CIN3,/8xXPT3,8 1




MKB3080 - 3082 {LAk:ESEIfTE

F—brE v F3P,

aAfv b

30

»
EITHE
11841-8
RE&ES W& S e A % PR % i E
1 | 115809000D A—tkwFCP;S 1O
2 | 115795000M 7527 CP; L 1O
3 | 115796000M 7527 CP;R 1<
4 | ONB6 7)—2=+57)V B Mb 2| ¢
5 089217000M 27N v 7L 1<
6 | 099599100M 279 V7R 1<
7 | WRAO06 LS % M6 410
8 | WRA20 Es¥H % M20 21 ¢
9 | PS060040 27N v IE Y 6X40 2| <
10 | 115820000M Ye 7 b3S 1O
11| 115818000M #5—; 21.6%X30 1O
12 | 115819000M 27 v AL.0X 25X 60 1O
13 | WRA20 b5 H R M20 2| ¢
14 | 115801000M LN—CP; L 1O
15 | 115803000M LN—CP; R 1O
16 0006810000 =F1 ;14 11
17 | BSZ08045 aA s KU T M8x45 21 ¢
18 | NNF08 75vVFA4mrFy b M8 2| ¢
19 000006200M oay—J vy ;01 21O
20 | NAA22150 Fu b 4 1va M22X1.50 2| ¢
21 | Ws22 NERHH R 2T M22 2| ¢
22 | 099603100M 7 - 1O
23 099604100M 27N T 1<
24 | WRAO06 ESHH % M6 2| ¢
25 | 099605000M HA K 1O
16— O 8848447 A 38447 A ASHAT




MKB3080 - 3082 {LAk:ESEIfTE

F—brE v F3P,

aAfy

b

30

e
ETHAR
11841-8
RlES| W& 5 i i % PR {(EE3 i £
26 | WRA16 ES¥A R MI6 1O
27 PS060032 27N Vv ITEY 6X32 1{C
30 | JSSBOBOASY | /¥7—Y a4 v b SSB—60 1A
31 | JQWMOS0ASY NT—Va4 v b QWM—50 1 A
32| 107399000M R — b 2| A
33 | BSZ10025 IFsELE T MIOX25 6| A
34 NSZ10 anyry 8 22 MIO 6| A
35 | 107400000M oy K 1 A
36 | NSZ10 ansFy b 8 2va MIO 2| A
37 WSA10 NxHHx 3Ty MIO 8| A
O 38-4S447 A 38447 A ASHAT {7 —




SSB—50

NI—=o a4 (BESAMTH)

PIC
#
RilEs| W& S s & %, i | % | f %
SSB—50 1ZEESAT

ASY | JSSBO50ASY YaA b 73 SSB-50 1
1 JSSBO501ASY YaA b AvFs I SSB-5H0 1
2 JSSB0502ASY Yad b Tuss I SSB—50 1
3 JPYSSB vrw+a—7s (SSB) 2
4 JSSBASY ANA 5 73 SSB AS050 2
by JFYSSBI T4 Tavya—-y 4 v+ (SSB) 1
6 JSSB0501 NAT A v+ SSB—5H0 1
7 JPC14ASY 75 v7rEy 73 (14) 2
8 JSSB0503 TYEYAN= 4 vF SSB-5H0 1
9 PS10050 A7) v ey 10X50 2
10 JFYSSB2 T4vT4v7a—=7 794 (SSB) 1
11 JSSB0502 NAT TwEH SSB—5H0 1
12 JSSB0504 TyEYAN= TUs SSB—50 1




SSB—60

NI—DaArb (3854 TH)

RiES BEES

il b # i)

SSB—60 38447

ASY | JSSBO60ASY YaA b 73 SSB-60 1
1 JSSBO601IASY Va4 vbh AvF7 3 SSB—60 1
2 JSSBO602ASY YaAdvb Tuss I SSB—60 1
3 JPYSSB vrw+a—7s (SSB) 2
4 JSSBASY ANA 5 73 SSB - AS050 2
b} JFYSSB1 T4 Tavya—-y 4 v+ (SSB) 1
6 JSSB0601 NAT A vF SSB—60 1
T JPCI4ASY 7o5v7rEy 73 (14) 2
8 JSSB0603 TVvEY A= 4 v+ SSB—60 1
9 PS10050 A7 v ey 10X50 2
10 JFYSSB2 JawvFvra—=s 794 (SSB) 1
11 JSSB0602 NAT 7oy SSB—60 1
12 JSSB0604 TvEYAN= TuH SSB—60 1

N




QWM —50
NI—2 a2 b (4S54 7H)

RilEs| W& S s & %, i | % | f %
QWM-50 4S54 7
ASY | JQWMO50ASY Ng—=VaA4 v b QWM—50 1
1 JWMO0501ASY VaAvbhb AvF7 I WM-50 1
2 JQWMO0502ASY Vad b Tuss I QWM—50 1
3 JPYWM vyy+a—-7s7 (WM 1
4 JMDASY 2344 (MD) (7 3) AS205 3
b JCYM cva—-7 ) 1
6 JEYWM1 T4vTqavya=-y Av+ (WM) 1
7 JMD0501 NA 7 4 w4 MD-50 1
8 JPC14ASY 75v7Ey 73 (14) 1
9 JWMO0503 TvEYAN= 4 v WM-5H0 1
10 PS100065 27 v ey 10X65 1
11 0471120000 rvFa—-7J 1
12 JYPMDO050 NA Ty F3a—7MD—50 1
13 JMD0504 TYEYAN= TUy MD—H0 1







S—160415 7

INIL B PR

A W3R AR

066-8555

066-8555

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

484-0894

700-0973

861-8030

885-1202

T W ERH#LIO6E 1 F M2
TELO123-26-1123
FAX0123-26-2412

T f B R L0661 F M2

TELO123-22-5131
FAX0123-26-2035

KiGHEE TRy oy 1191%FHM44
TELO162-82-1932
FAX0162-82-1696

MmN 22%d 1 THL2HFH4

TELO155-37-3080
FAX0155-37-5187

EARE P E R 2 THL 64 2
TELO153-72-2624
FAX0153-73-2540

G TIRACET O NS 11 %1204 3

TELO198-46-1311
FAX0198-45-5999

BRI AL TR R X B R 179 - 1
TEL O22-388-8673
FAX022-388-8735

oA B o #2512 -1
TEL 0285-49-1500
FAX0285-49-1560

EME R HERE TS ®ESF I
TELO568-69-1200
FAX0568-69-1210

By I BB I AE X B 704-103

TELO86-243-1147
FAX086-243-1269

REEARTRIX/NIET1639-1
TEL 096-389-6650
FAX096-389-6710

B IR UL AR S T v T AR5 1003 - 2

TEL 0986-53-2222
FAX0986-53-2233

b
MUy
X

T.28. 04. 4SS ®



